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s= k|yd rf}dfl;s cfof]hgfx?

!=	 >L u'd|f/fË cf=lj= kmlg{r/, z}lIfs ;fdfu|L / TLC dd{t ?=2,00,000÷–

@=	 ;/f]sf/jfnf ljr :jf:Yo ljifodf cGt/lqmof ?=30,000÷–

#=	 ;fnwf/L lrplnaf]6 d5fOgf] u}/f] d'xfg ?=60,000÷–

$=	 dx]G› df=lj= b'n{'Ë ufpF vfg]kfgL d'xfg OG6]s lgdf{0f ?=50,000÷–

%=	 a]gL3f6 kf6L lgdf{0f ?=3,00,000÷–

^=	 Psn dlxnf k|f]T;fxg sfo{qmd ?=50,000÷–

&=	 afn ;[hgf k|bz{gL af]8{ lgdf{0f ?=40,000÷–

*=	 afn xflh/hjfkm k|ltof]lutf sfo{qmd ?=30,000÷–

(=	 l;d8f]n u'd/fË lg=df=lj= df]6/af6f] ;'wf/ ?=3,00,000÷–

!)=	7f6Le~hfª ;f]nfe~hfª ;8s ;'wf/ ?=2,00,000÷–

!!=	l;dn8fF8f a;kfs{ ;8s ;'wf/ ?= #,)),)))÷–

!@=	u'd/fË df]8 km]bL ;8s ;'wf/ ?=2,00,000÷–

!#=	ljkb\ Joj:yfkgsf] nflu cfsl:ds sf]if ?=2,00,000÷–

!$=	ljljwtf jflif{s sfo{tflnsf lgdf{0f sfo{qmd ?=50,000÷–

	 klxnf] rf}dfl;s cfof]hgf ah]6 hDdfM ?= @),!),)))÷–

v= bf];|f] rf}dfl;s cfof]hgfx?

!=	 e}/j u'kmf Joj:yfkg ?=80,000÷–

@=	 b'nfn kw]/f] vfg]kfgL of]hgf ?=40,000÷–

#=	 7f]s/ 6f]n Rofg8fF8f uf]/]6f] af6f] ;'wf/ ?=25,000÷–

$=	 x'lr6f/ o'jf Sjn tyf v]nd}bfg Joj:yfkg ?=40,000÷–

%=	 ;dfh ;'wf/ o'jf Snj Joj:yfkg ?=30,000÷–

^=	 ;›efjgf gful/s ;r]tgf s]G›sf] ejg Joj:yfkg ?=1,50,000÷–

&=	 afUdtL :s'n – slk/fd df]6/af6f] ?=2,00,000÷–

*=	 sGofbdf/ df]6/af6f] ?=2,00,000÷–

(=	 lr?jf 8fF8f df]6/af6f] ?=99,000÷–

dxf°fn ufp“kflnsf ^ g+= j8f sfof{no, 7'nfb'n'{·sf] sfo{qmd 
tyf ah]6 of]hgfx? -cf=j= @)&%÷)&^_
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!)=	v}/] vf]nf l;s/y'd df]6/af6f] ?=3,00,000÷–

!!=	cfxfn e~hfª wf/fdf/fª df]6/af6f] ?=1,50,000÷–

!@=	b'n{'Ë 98]g 6f]n df]6/af6f] ?=1,20,000÷–

!#=	;'g'jf/ 6f]n :ofb/yfg df]6/af6f] ?=2,00,000÷–

!$=	b]jLyfg 98]g 6f]n df]6/af6f] ?=2,20,000÷–

!%=	kfgL3f6 nl;Ë df]6/af6f] ?=2,00,000÷–

	 bf];|f] rf}dfl;s cfof]hgf ah]6 hDdfM ?= @),%$,)))÷–

u= t];|f] rf}dfl;s cfof]hgfx?

!=	 a]df};dL t/sf/L v]tL ug{ ;fdu|L ljj/0f ?=99,000÷–

@=	 slkm v]tL lj?jf cg'bfg ?=99,000÷–

#=	 e}/jy'd lkslgs :yn Joj:yfkg ?=50,000÷–

$=	 >L % dx]G› df=lj=kmlg{r/ / z}lIfs ;fdfu|L vl/b ?=1,25,000÷–

%=	 >L Hjfnf b]jL cf=lj= z}lIfs ;fdfu|L ?=50,000÷–

^=	 >L afUdtL cf=lj= z}lIfs ;fdfu|L ?=50,000÷–

&=	 a/fd 6f]n vfg]kfgL ?=99,000÷–

*=	 eof{Ë 6f]n vfg]kfgL kfO{k vl/b ?=50,000÷–

(=	 plt; u}/f] vfg]kfgL of]hgf ?=50,000÷–

!)=	dlxnf ;xsf/L sfof{no Joj:yfkg ?=1,50,000÷–

!!=	dlxnfx?sf] nflu d"8f agfpg tflnd ?=70,000÷–

!@=	l;:g] vf]nf afn v]ns'b d}bfg ?=1,00,000÷–

!#=	h]i7 gful/sf k|f]T;fxg sfo{qmd ?=50,000÷–

!$=	blnt hghftL pRr lzIff 5fqfj[tL sfo{qmd ?=60,000÷–

!%=	;f]nf e~hfª afn8fF8f rd]/] u'kmf df]6/af6f] ?=3,00,000÷–

!^=	6f]n j:tLdf k~hLs/0f u'DtL cleofg ?=40,000÷–

!&=	jflif{s ;ldIff sfo{qmd / ;fj{hlgs ;'g'jfO{ ?= %),)))÷–

!*=	;"rgf k|ljlw ;~rfng ug{ hgzlQmsf] Joj:yf –1 ?=1,80,000÷–

!(=	ljljw tyf e}k/L ?=2,84,000÷– 

	 t];|f] rf}dfl;s cfof]hgf ah]6 hDdfM ?= ^),)),)))÷–


